e std dev:

e std dev 2:

e rotation matrix:
( cos(a) +n2 - (1 — cos(a)) Ng - Ny - (1 — cos(a)) —ny -sin(a) ng - n, - (1 —cos(a)) +ny - sin(a))

Ng - Ny - (1 — cos(a)) + n; - sin(w) cos(a) +ng - (1 — cos(a)) ny - Ny - (1 —cos(ar)) — ng - sin(a)
ny - ng - (1 —cos(a)) —ny -sin(a) n,-ny - (1 —cos(a)) + ng - sin(a) cos(a) +n? - (1 — cos(a))

M(a) = .

z g

e like in label at bottom (no MM):

(Lo S0
(o [l

7RG — — X0 — —i X0 — —7X0 — —eXt -~ X9 — —i X — —gX — —TX) — —aXd— ~TX D

e like in label at bottom (MM):

e decoration:

e mathtest: .
This is normal text: thisismath : (r2(r)) = ((F(t) — Ft + 7))2)  g(r) = & - (1 + %M) UT0{@|lals > 2} 7R

Wi



JWWER e

V=T

1 H a A
arg ming Z%ZO jol ((())) [{gi} . 2] underbraced text A - - %,ﬂﬂ
—

(a(r)- Bt + 7)) aprocraon | [ Vi |

chi2 test:

N N 2
(g
7 = arg max x> = arg max E M
3 p i

p i=1

upper/lower parantheses test:

ACF test:

MSD test:

1 1 1 1
T -

N

gih(r) = L <1+2<T2<7)>>_1~ <1+2<r2<7)>>_

N 3 ’U)%y 3 w%y
2 > = Ko @
MSD(r) = (r(r)) = ((F(t) = 7t + 7))?) = 2n- s

math: blackboard:

math: bf:

math: rm:

ABCDEFGHIJKLMNOPQRSTUVWXY ZI#F

ABCDEFGHIJKLMNOPQRSTUVWXYZ120

ABCDEFGHIJKLMNOPQRSTUVWXYZ120

—

m)ocNoZ




math: cal:

ABCDEFGHIITKLMN OPQRSTUVIWXY Zooe!

subscript test:

7123 T1
2
subscriptO test:
7123
subscriptl test:
123
subscript2 test:
7123
subscript3 test:
712371
2
superscript test:
1
P23 .3
superscript0 test:
123
r
superscriptl test:
123
r
superscript2 test:
123
r
superscript3 test:
1
F123,.3



asuperscript test:

asuperscript0 test:

gsuperscriptl test:

gsuperscript2 test:

gsuperscript3 test:

frac test:

tfrac test:

dfrac test:

stackrel test:

brace5 test: ()

1

Q123 4%

o123

123

g
123
g

123 1

g g2
a g a® a®
b a b p3
a g _ a® da*
b+a b2 1
b2
a g a®> a®
b a b 1
b2
2
a g a? al
b+a— b b2



brace6 test: [ |

brace7 test:

brace8 test: — ——

brace9 test: — —

bracelO test

bracell test: floor

bracel2 test: ceil

sub-, superscript test

super-, subscript test

math 1:

math 2:

(™10 = -
{1} - -

21 = =

120 ==

{{-™)]} -
L1 = -
[TTr11 = -

1234,.1234 1234,.1234

[[1]]
{{r™}}1}

(HTEas il

el

{{-")]}
ANl
[T

2

7321 321 — = 7321 T321 — =K — —K2— —Kg
123 123 123 123 2
7432174321 — — 7432174321 — =R — —K2 — —Rp

f(z) = /_g; e dt

[e.o]

D

=1

i

2n




math 3:

math 4:

math 5:

math 6:

math 7:

math 8:

math 9:

math 10 (overbrace):

n—1
1 x Ty .
1 a9 ... xo~
d S -
et|. . . = (xj — ;)
S : 1<i<j<n
1 =z, !

22*

2

//D f(,y) dz dy

—_—~
T+ x+ ..+ xk times



math 11 (underbrace):
T+ x+ ..+ xk times
—_—

math 12 (under/overbrace):

—— ——
r+x+..+xktimesx +x + ... + z k times 2k times

~~

math 13:
vl yy
math 14:
1/3 if0<z<1
fle)=192/3 if3<x<4
0 elsewhere
math 15:
o+
2
Rz = )
0+ (e |B ?
2 2% 14
math 16:
i i m2n
= 3m (m 3" +n3m)
math 17: . * sin(kR) 9 oD, (R)
sin(k 20Dy,
n(r) = = (R d
Pnr) 4#252/0 kR OR [R OR ] R
math 18:

o0

(al) (a ) P
qu(a1>"'7ap;Cla---,Cq;Z):Zui

0 (c1)n - (cg)n n!



math 19 (overset):

Xdefy X1y xfy 1@F AAQ @ A2 08 ()
math 20 (underset):
Xdef 5)Y X fY f(erAgi_f(x)Ax: 0f'(x)

axiom of power test:

VAIPVB[B e P < VYC(C € B= C € A)]

De Morgan’s law: =(P A Q) <= (=P)V (—=Q) or (;c; Ai = U;e; Aior AUB=ANB

quadratic formula:

. —b+ Vb2 —4ac
- 2a

combination:

n\ nn-1)..(n—-k+1) n!
<k‘>_ k(k—1)...1  Kl(n—k)!

Sophomore’s dream 1:

1 oo
/ x Pdr = g n~ " (=1.29128599706266354040728259059560054149861936827...)
0
n=1

Sophomore’s dream 2:

1 ) 0o
/ x¥dx = E (=1)"Tlp = — E (—n) ™" (=0.78343051071213440705926438652697546940768199014...)
0 n=1 n=1
divergence 1:
_— -~ oU oV oW
divF =V -F=—+

oz oy o



divergence 2:

lim, sum ...:

8em

Bezy

BGIZ

+
_|_
+

86y¢

Geyy

8eyz

+ aem

+

8ezy

+ 8622

i s = (1) +§ 2o+ {fsib}

(O |T{F'}| ) = (¢ |T{iF; DY

Schwinger-Dyson:

Schrédinger’s equation:

—om 022

|: h2 62

Cauchy-Schwarz inequality:

Maxwell’s equations:

+V]\I/()

— FSint i D} ) .

0
N
Zh@t

(z)

— 10E 4o
B—- ——=—j
VX ot c‘]
V-I:j:élwp
. 1B -
E+-—=0
VX +c8t
V-B=0
math: radicals:
Iva [ 1 1
\ﬁf\ff\[
vas ava\l1+; [ 1



¢ math: non-2 radicals:

31_"_%

e math: long non-2 radicals:

3.14156
341415\6/5 \/5

e math: sum, prod, ...: no-limits:

n (&
H Z(z +7)- B
=1 j=1
limits:
n c 1
H Z(z +7) - 5
i=17=1
long-below:
Y fw
n:{a,b7c7d7evag}
long-above:

n={a,b,c,d.e,f,g}

f(x)

e math: more sum-symbols :

N N NN N N NN N N N N
2 IITUNLUVADROR
1=0 1=0 1=0 1=07=0¢=01=01=0 =0 =0 =0 =0

e math: integrals: no-limits:

/Olf(:v)dx //Olf(w)dx //Olf(x)d:r ?g)lf(x)dx/xf(g;)dx

10



—  limits:

e math: frac test:

11



